

Kansas Corporation Commission Oil & Gas Conservation Division

94150

Form CDP-5 May 2011 Form must be Typed

EXPLORATION & PRODUCTION WASTE TRANSFER

Operator Name:	License Number:
Operator Address:	
Contact Person:	Phone Number: () -
Permit Number (API No. if applicable):	Lease Name:
Source of Waste:	Well Number:
Emergency Pit Settling Pit Workover Pit Drilling Pit Burn Pit Haul-off Pit Steel Pit Spill / Escape Dike	Source Location (QQQQ):
No Waste to be Hauled: [] (If checked, provide an explanation as to why n	no waste was hauled in the Comments area.)
Type of waste to be disposed: Fluid Soil Mud /	Cuttings Other:
Amount of waste: No. of loads Barrels	Tons YDS
Destination of waste: Reserve Pit Haul Off Pit Disposal Well	Lease Road Dike / Berm Other:
If waste is transferred to another reserve pit, is the lease active?	No
Location of Waste Disposal: Destination Out of State: (If checked, provide the location of where the waste)	waste was hauled in the Comments area.) Date of Waste Transfer:
Operator Name:	License No.:
Lease Name:	Sec Twp R East West
Docket No./API No.:	County:
Comments:	
Submitted Elect	ronically

Invoice

Invoice #

Date

27377

3/5/2014

H-D Oilfield Service, Inc. Bazine, KS 67516 502 Foos Ave

785-798-7677		ration ite 700 2	
Phone #	Bill To	Vincent Oil Corporation 155 N Market, Suite 700 Wichita, KS 67202	

County	Lease Name	Identifier	Terms	Truck #	New Well
FORD	DROSTE 1-10		Due on re	3	YES
	Description	Quantity	Rate		Amount
LEASE: DROSTE 1-10 DATE: 02-18-14 DRIVER: RUDY ROLO		4	5	94.00	376.00
FURNISHED 80 BBL V FREE FLUIDS OFF RE	FURNISHED 80 BBL VACUUM TRUCK #3 TO HAUL 160 BBL FREE FLUIDS OFF RESERVE PIT TO TIEBEN SWD			18	
SALTWATER DISPOSAL	AL FEE (TIEBEN)	160		0.30	48.00
DATE: 02-19-14 DRIVER: RUDY ROLO	933 E	9	5	94.00	564.00
FURNISHED 80 BBL VACU FREE FLUIDS OFF RESERV 80 BBL TO BILLINGS SWD	UM T	-			
SALTWATER DISPOSAL	AL FEE (TIEBEN)	160		0.30	48.00
SALTWATER DISPOSAL	AL FEE	8		0.25	20.00
Thank you for your business.	ness.		Subtotal		
Accounts over 30 days old, Oilfield Service, Inc., may per month.	old, at the discretion of H-D nay be charged 1.5% Interest		Sales Tax (7.8%)	.8%)	
			Total		
			Balance Due	Jue	

H-D Oilfield Service, Inc. Bazine, KS 67516 502 Foos Ave

Invoice

Invoice #

Date

27377

3/5/2014

hone # 785-798-7677	3ill To	icent Oil Corporation N Market, Suite 700 Shita, KS 67202	
Phone	Bill To	Vincent O 155 N Ma Wichita, J	
	Phone # 785-798-7677		I Corporation Set, Suite 7

County	Lease Name	Identifier	Terms	Truck #	New Welf
FORD	DROSTE 1-10		Due on re	ю	YES
	Description	Quantity	Rate		Amount
DATE: 02-21-14 DRIVER: MIKE GILLILAND	LAND /	5	6	94.00	470.00
FURNISHED 80 BBL VACUUM TRUCK BBL FREE FLUIDS OFF RESERVE PIT, SWD, 80 BBL TO BILLINGS SWD, (STU HAD TO WAIT ON CAT TO PULL OUT)	FURNISHED 80 BBL VACUUM TRUCK #14 TO HAUL 160 BBL FREE FLUIDS OFF RESERVE PIT, 80 BBL TO TIEBEN SWD, 80 BBL TO BILLINGS SWD, (STUCK ON LOCATION, HAD TO WAIT ON CAT TO PULL OUT)				
SALTWATER DISPOSAL	SAL FEE (TIEBEN)	80		0.30	24.00
SALTWATER DISPOSAL	SAL FEE	80		0.25	20.00
DATE: 02-24-14 DRIVER: MIKE GILLILAND	ILAND	3.5	6	94.00	329.00
FURNISHED 80 BBL ' BBL FREE FLUIDS OI	FURNISHED 80 BBL VACUUM TRUCK #14 TO HAUL 160 BBL FREE FLUIDS OFF RESERVE PIT TO TIEBEN SWD				
SALTWATER DISPOSAL	SAL FEE (TIEBEN)	160	•	0.30	48.00
TIEBEN SWD, TKO II SEC 5-27-21 FORD CC	TIEBEN SWD, TKO INVESTMENT, LIC #4067, NW-NW-NE SEC 5-27-21 FORD CO, KS, DOCKET #D-25,531				
Thank you for your business	iness.		Subtotal		
Accounts over 30 days old, Oilfield Service, Inc., may per month.	old, at the discretion of H-D nay be charged 1.5% Interest		Sales Tax (7.8%)	(%8:	
			Total		
			Balance Due	ne	

H-D Oilfield Service, Inc. Bazine, KS 67516 502 Foos Ave

Invoice

Invoice #

Date

27377

3/5/2014

785-798-7677		oration ite 700
Phone #	Bill To	Vincent Oil Corporation 155 N Market, Suite 700 Wichita, KS 67202

County	Lease Name	Identifier	Terms	Truck#	New Well
FORD	DROSTE 1-10		Due on re	3	YES
	Description	Quantity	Rate		Amount
BILLINGS SWD, AME NE-SE-NE SEC 35-22- #D-27,511	BILLINGS SWD, AMERICAN WARRIOR, INC, LIC #4058, NE-SE-NE SEC 35-22-23, HODGEMAN CO, KS, DOCKET #D-27,511				
Thank you for your business.	iness.		Subtotal		\$1,947.00
Accounts over 30 days old. Oilfield Service, Inc., may	Accounts over 30 days old, at the discretion of H-D Oilfield Service, Inc., may be charged 1.5% Interest over month.		Sales Tax (7.8%)	(%8.	\$0.00
			Total		\$1,947.00
			Balance Due	Jue	\$1,947.00